K P MAS (WORLD OF INTELLIGENCE)
LEVEL - INTRO ( VEDIC) SAMPLE-1

SOLVE THE FOLLOWING

17+ 2 =

16-11 =

14+ 7 =

28 -4 =

36-6=

28 -5=

Duplex Of 28 =
Duplex Of 56 =
Square Of 55 =
Square Of 85 =

Digital Root Of 3214 =
Digital Root Of 592 =
Complement Of 43 =
Complement Of 82 =
Complement Of 265 =
Complement Of 1345=
Double of 91 =

Half of 24 =

Half of 36 =

Half of 78 =

D of 43 =

D of 56 =

10000 — 2364 =

10000 - 752 =

10000 - 36 =
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Square of 21 Square of 34 Square of 47
C.Cof51&31 C.Cof29 &58 C.Cofl12&15

26 + 31 46 + 29 69 + 39
26 x5 836 x 2 7249 x 7

11 33 89

X 19 X 37 X 81

28 36 49

X 41 X 72 X 63

Combination of 6

Combination of 8

If x =3 find 24 - x

Ify=2find2xy-3




K P MAS (WORLD OF INTELLIGENCE)
LEVEL - INTRO ( VEDIC) SAMPLE-2

SOLVE THE FOLLOWING

47 + 6 =

9+74=

16 -2 =

7+20 =

35+8=

18 -6 =

Duplex Of 96 =
Duplex Of 32 =
Square Of 45 =
Square Of 65 =

Digital Root Of 3473 =
Digital Root Of 82759 =
Complement Of 72 =
Complement Of 96 =
Complement Of 301 =
Complement Of 4292 =
Double of 18 =
Double of 50 =
Double of 89 =

Half of 46 =

Half of 92 =

Half of 78 =

10000 — 2768 =

10000 - 5726 =

10000 - 768 =
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Square of 19 Square of 38 Square of 96
C.Cof32&46 C.Cof52&30 C.Cof91&64

42 + 18 78 + 22 59 + 31
78 x4 435 x 6 6785 x 3

32 69 47

X 38 X 61 X 43

32 74 13

X 68 X 53 X 25

Combination of 7

Combination of 3

Ifx=2find3+x+Xx+X

fy=2find4-y +6




K P MAS (WORLD OF INTELLIGENCE)
LEVEL - INTRO ( VEDIC) SAMPLE-3

SOLVE THE FOLLOWING

74+9=

8 + 65 =

98 -2=

7+78 =

92+ 7=

48 - 8 =

Duplex Of 78 =
Duplex Of 56 =
Square Of 35 =
Square Of 55 =

Digital Root Of 7632 =
Digital Root Of 59083 =
Complement Of 98 =
Complement Of 75 =
Complement Of 842 =
Complement Of 4268 =
Double of 16 =
Double of 55 =
Double of 29 =

Half of 48 =

Half of 93 =

Half of 88 =

10000 — 2789 =

10000 - 5796 =

10000 - 897 =
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Square of 70 Square of 25 Square of 48
C.Cof9 & 24 C.Cof37&51 C.Cof64 & 39
82 + 35 62 + 57 93 + 41
2614 x 8 43 x 7 289 x 8
42 69 47
X 48 X 61 X 43
24 81 16
X 37 X 47 X 36

Combination of 9

Combination of 7

Ifx=2find3+x-2

Ify=2find8-2y +6




K P MAS (WORLD OF INTELLIGENCE)
LEVEL - INTRO ( VEDIC) SAMPLE-4

SOLVE THE FOLLOWING

2+ 17 =

6+24=

12+ 2=

15+8 =

17 -5 =

13-8=

Duplex Of 86 =

Duplex Of 14 =

Square Of 55 =

Square Of 75 =

Digital Root Of 3671 =
Digital Root Of 52 =
Digital Root Of 36721 =
Complement Of 5236 =
Complement Of 3219 =
Complement Of 55 =
Complement Of 31 =
Double of 46 =

Double of 39 =

Double of 95 =

Half of 38 =

Half of 14 =

Half of 60 =

10000 — 4251 =

10000 - 3628 =
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Square of 58 Square of 93 Square of 26
C.Cof49 & 62 C.Cof35&7 C.Cof96 & 43

52 + 38 76 + 25 94 + 13
33x4 928 x 9 4261 x 7

52 37 47

X 53 X 33 X 43

32 17 54

X 43 X 84 X 32

Combination of 4

Combination of 8

If x =2 find 2x +3x + X

Ify=2find4-y -y







